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Rnabve 7377 ON» NBORY — I can say, what does m3°m» mean; a
division.

Overview

The X713 originally interpreted 7%’ to mean a wall. After the X713 showed
that this is based on a Xn>12 (and inferring from this translation that 7°X7 prn
PN W KX?), the X mx challenges this assumption and declares that nx°omn
should mean a (property) division. There is seemingly no basis for this
challenge; on the contrary the accepted translation of '7¥°1n' universally, is a
wall. npoI1n deals with this issue.

3y 11939 ween — The "9 explains; why does the X3 want to reinterpret the
word 77¥°1n to mean a division as opposed to the original interpretation that 7¥°nn is a
dividing wall. The word 7%°nn generally refers to a wall, not to a division.

mooIn explains
N7 PR BT 2mn — because on the translation that 7317 refers to a wall
nenp o we — there are many difficulties with that translation

7702 7872 — as the X2 will shortly1 ask. The X3 asks many questions on the
interpretation that 7%’ means a wall. This interpretation of XT1A requires us to assume
that P17 7°nw X2 PR pr’n? The X713 cites many sources which indicate that X7 P17
PN TN,

wAph P17 79959 — therefore’, on account of these questions, the x1nx forces
itself to awkwardly interpret the word —

NNaee mRomn — 'eomn' to mean a division. When n¥mn is interpreted to mean
Xnaoo, then we assume that P12 °nw 787 P, and there are none of the above referred-
to difficulties. The X7n3 prefers this interpretation —

2% 9227 23 HY N — even though that everywhere

N7 7737 997 — the meaning of '7xsmn' is a wall. It is preferable to compromise
the literal meaning, and conform to all the cited sources, than having a proper translation
but (seemingly) contradicting all the cited sources.

Summary
The X713 challenges the assumption that 7% means X713. According to that

assumption, we will maintain that pri 7°nw X2 5°X7 P, There are many
sources which indicate that pri 7nw "3, Therefore it is preferable to

" The X3 on this 71y asks many questions on the opinion that 7"%% 1"7 from many N1 and a X7,
m»doIN has previously stated (7117120 7"7 'R TMY), that the answers to these challenges are unconvincing.

* See the x»3 immediately preceding this 'X%XY'.

? The Xm3 presents its opposition to X7 77¢°mn and offers the alternate that X9 %°rn immediately after
the &3 inferred that if X7 7¥°nn then 7"wH 2"7. This may indicate that the opposition was not to the
translation itself, but rather what is inferred from the translation, namely that 7"w% 1"
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interpret 71X°11 to mean a division, thereby maintaining that pri mnw 2"0;
Even though this interpretation runs contrary to the usual interpretation of
the word 7 mn.

Thinking it over
1. Why can we not say that the reason the X3 wants to say Xna99 7%°mn is
because if X712 7%¥°1» then it should have said "nmX 1P112' instead of nNX P12’
o, as the Xx asks? Or is this also included in the 'nvwip n3', that
mooIn refers to?

2. What does this mooin teach us as to the relative strengths of 975 versus
0I9?
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